Rajasthali Law Institute

Prelims test series
IPC PAPER-8
(SECTION 1 TO 425)

1)Section 34 of IPC:-3TSUIET T ¢TRT 34:-

a)Create a Substantive Offence/A. Teh SIF 3TIRTET TATT
b)ls it a rule of evidence?B. TTET T HAIH g2

c)Both (A) and (B)/C. gl (T) 3iR (&)

d)Neither (A) nor (B)/D. & dr (T) 3R & &I (&)

2)“There is a presumption that mens rea, an evil intention, or
a knowledge of wrongfulness of the act, is an essential
ingredient in every offence, but that presumption is liable to
be displaced either by the words of the statute creating the
offence or by the subject matter with which it deals.” This
statement is mentioned in which case-"Ue $ITRUT g b

ORI SITGT, Teh ST S0GT, IT I hl Tl bl IATeT, BT 3TURTET
H Ueh 3TATeh UCeh g, olishel Ug LRUIT 3R UGT &led alel shielel
%%Mﬁﬁwﬁaaﬁ%%m%mwﬁwaﬁﬁﬁm@
TE GETEIT &1 S U= F1 Seord g Ao 3 v a1 -

a)R. v/s Dadley and Stephen T. 3R, S8 S8l 31X TEIthaT
b)Sheraj v/s Rutjen &T. QRTST dTH & alod

c)Queen v/s Talson It FdleT S1TH coddl

d)R. v/s Arnold 3T. 3. ST 3T=ifes




3) A, B, C and D are charged with murder of E. But it is
proved by evidence that A, B, C , D and three more person
jointly committed this offence. Court acquitted A, B and C
and convicted D. Which statement is correct regarding
above? T, T, HI 3{R ST WX § 1 §cAT 1 3TRNYT g | ifehed Hl & Tg
qrfed giar g fob T, &, T, 31 3R e 37T |9 o Aol Ig 39T
feraT &1 31aTeld o T, &t 3R & sl o &Y 7T 30X ST T gl Sgram|
IURIT oh T H el AT HUT TLT 672

a)Conviction is legal/ T. giufagiar du g

b)Conviction is illegal but D only can be convicted on the basis of
section 34/sT. SIYTAGTY A & wifchel shdel D I TRT 34 o TR
91 ayT ST ST GohdT &

c)Conviction is not illegal because on which charge framed with
D, becomes acquitted/d. SINTAGTY 3TdE g1 § FlTch ToTd I 3T
1Y 3R a2 fHAT IAT &, 98 S 8 AT &

d)Conviction is not illegal because those persons whose name is
not mentioned were not charged with D/3Y. SI9THE A =gl &
FiTeh ToleT SATFTAT & TH T 3ol Al [T IAT g 3T I 3T T
3R AT ST AT 2T

4)Chapter 3 of IPC contains 2384 o 378 3 H AT AT &2

a)sec 53 TO 75/T-4IRT 53 § 75
b)sec 55 to 75/&-4RT 55 & 75
c)sec 54 to 74/H-4TRT 54 T 74



d)sec 52 to 74/3-4TRT 52 & 74

5) Electronic Record is defined under which section of IPC?
Solarciialeh Nehis ol ITSUIET T fovd &IRT & 37deTd aReTia forar
IATE?

a) Section 63A/T. YRT 63T
b)Section 23 /&T.4IRT 23

c)Section 29A/HT. €RT 29T
d).Section 52A/3T.4RT 52T

6) Which section of the IPC provides for the act of a child
above seven years of age and under twelve, who has not
attained sufficient maturity of understanding to judge of the
nature and consequences of his conduct, but who has not
committed an act which would be an offense if committed by
a person of mature understanding?/3TS4IET T hiel T YRT T
aY & 3{Teeh 3R IRE aY & e 3H & T & Hed ol TGl Hlcll
g, %ﬂﬁmﬁrsﬂw@rmﬁ?qﬁmwwm%ﬁv
Wﬁwqﬁwmaﬁﬁ% clfehet [STEeT UAT IS 1
sTg1 TohaT g Ife IRUsFa AT arel sgfdrd garT fohar 31 df I8
3T9RTEY GIaT?

a) Section 83/a) 9T 83
b) Section 87/b) &IRT 87
c) Section 88/c) &IRT 88



d) Section 84/d) 9T 84

7)“A person who acts in good faith for the benefit of a person
without his consent, in cases of emergency or
necessity”given under which section of ipc ?/“&Is cgfad 3T
3TATdRTAleT AT 3TN o HIH H fhdl cafdd r agafa &
T9AT 38 o1 & foIT HEHTTAT § I Ll &7 STSUIY I fhd ey
& ded 1T AT 8?2

a) section 91/a) YT 91
b) section 87/b) ¥IRT 87
c) section 92/c) &IRT 92
d) section 90/d) €T 90

8) Irritating behaviour and Epilepsy etc are not unsoundness
of mind decided under which landmark case ?//R3f3 cgagR
AR A 3nfe AR R 161 8, S8t e fha Va8
ATH o dgd [T =T 87?2

a) Kanbi kurji AIR 1960 GUJARAT/a) WiﬁﬁAlR 1960 IToRTd

b) Hari singh gond v/s state of madhya pradesh /b) g &g s
TATH HAET U2 T

c) Devendra v/s state of massore /c) ¢deg SITH API T
d) Riaz v/s state of chattisgarh/d) RITeT =116 SxiIG9TG I

9)A and Z agrees to fence with each other for amusement.
This agreement implies the consent of each to suffer any
harm which, in the course of such fencing, may be caused



without foul play; and if A, while playing fairly, hurts Z, deals
With?/”T7” R “SI5 " HARGTT & [l Ueh gEX & A1 &1 ol &
o ggaa &1 39 gasiia &1 3787 € 5 0 918 o & el gl
arell fohelT &f g1y 1 Tt TRl ISATEAT o SeTet & TolT Yo hr
HeAf; IR I T, fTvaerar & Werd g, o3 I die gardT &, of
Agearg?

a) section 85/a) YT 85
b) section 86/b) YIRT 86
C) section 87/c) YIRT 87
d) section 89/d) &IRT 89

10)A is attacked by a mob who attempt to murder him. He
cannot effectually exercise his right of private defence
without firing on the mob, and he cannot fire without risk of
harming young children who are mingled with the mob. A
commits no offence if by so firing he harms any of the
children.?/” T X 13 GaRT gH I fhdT JATAT § ST 3EhT T I
TATH il ¢ | a8 HIS IR 3ol IATT [oa1T ToAsiT aa1d & 3791 3R
wqﬁﬁﬁmaﬁwmé 3R ag #fis & fAe sic
STl T oJehdlel Ggdlel o SATEH o T4 Aol 81 Tl Hehell & | T
S S ISR ek Teelt 31 A Tl bl hdild el & ot g
PIS ITIRT Ael T & 1?

a)section 100/a)4_T 100

b) section 101 /b) &RT 101
c) section 106/c) ¥RT 106
d) section 102/d) &I 102



11) What punishment may be awarded to the person whose
act is covered under Section 100 of IPC./fT3H =afed &1 $cd

3SR T &RT 100 & 37T 37T &, 39 T GoIT &1 1T Thal 872

(a) No Punishment/(T) &S T a8l

(b) Half of the punishment prescribed for that offence/(sil) 389
3R & TolT TR T ot 3men

(c) One-fourth of the Punishment/(&Y) TS T Teh-TiATS

(d) Depend upon the discretion of the Court./(3)) =ITdTeld & fdds
W TR AT B

12)In cases of kidnapping & abduction the right of private
defence extends voluntarily causing:/39g30oT 3R 379g30T &
ATHT # AT S99 71 3R Ta<or 8 [eafaf@d sRu & giar
g

(a) any harm other than death/ (T) HId & 3elTal IS hdTe

(b) any harm other than death & grievous hurt/ (sf) #Fid 31X 3R
IC & eIl g ehdlel

(c) any harm including death /(&) Hid &g IS sendTel

(d) both (a) & (b)/(E) AT (T) & (@]

13) What punishment may be awarded to the person whose
act is covered under Section 100 of IPC./[5H =ATFd & Fcd

ITSYIAT T ¢IRT 100 & 3737 3T &, 38 AT il &1 ST Tl £7?




(a) No Punishment/(T) 1S T A8l

(b) Half of the punishment prescribed for that offence/(slT) 38
IRTY & forw TR @ & 3mem

(c) One-fourth of the Punishment/(&Y) TSI T THh-TIATS

(d) Depend upon the discretion of the Court./(3T) aTITeld & [dds
X fASR T B

14) In which of the following the right to private defence of
property does not extend to causing of death?/fas=feii@d H
4 fohga Guicy T fo¥sil 1T & 36 Hog SR el deh
faEaTRd =18 g2

(a) Robbery/(T) Sl

(b) Housebreaking by night/(sfT) Ird & T&T STeTT=T
(c) Theft/(¥T) TRY

(d) Mischief by fire/(3Y) 31T & aRRA

15) Which is not correct about the self defence?/3TcHI&T &
X H it AT Hel =Tgl 82

(a) Nothing is offence which is done in exercise of right of private

defence/(T) fSiT T8I & TPR & TN H Tohar 131 IS o T
YT A8l &



(b) Right of private defence is extended to causing death in the

case of robbery/(sT) [T §ATT &7 31TFR Shdll & HATHSA & Al &l
HIRUT Telol deh SGIAT IAT

(c) Right of private defence is extended to causing death in

defamation case/(®) Sl sTa T fAHR ATAGITA & HHA H
HId T HROT FeTel b TGIAT IAT &

(d) There is no right of private defence, if there is time to have
recourse to the protection of public authorities/(3T) Ife ATl
STTRIhTRET T FI&TT T FERT it T AL &, Al ¥l T&TT AT IS
3fFR AL &

16)Explaination 2 of IPC provides for ?/3TSUIHT & TASEIHIUT 2
H T YIaeTT g2

a)Abetment by instigation/a) 3aTd GaRT GSROT

b)Abetment by intentional aiding/b) SITeTegIehY HETIAAT SaRT g@TUT
c)Abetment by conspiracy /c)¥sIF GART 3h ATl

d)Nove of these /d)gsTa & IS &

17)What is the main ingredient of the offence under Section
107 IPC?/3TSHIET chl &TRT 107 o &l ORI T HET e AT 7

a) Abetment of a thing/a) for&Y st & forw 3HATAT

b) Abetment of an offence/b) foh&l 3TTRTYT & foIT IHaTAT
c) Abetment of an act/aT) & e & T IHaTT

d) Abetment of an omission/&) fhaT T & forT 3HATAT



18)Under IPC there can be abetment to ?/37SUIE! & dgd
foharehY GSUROT T ST HehelT 72

a)Unsound mind person/a)31T&2R G arelT saiad
b)infant/b)fRre[

c)Both (a) and (b)/c)ar=T (T) 3R (i)

d)none of these/d)31# & IS AT

19) Abetment of offence punishable with imprisonment,if
abettor or person abetted be a public servant whose duty it is
to prevent offence then abettor shall be punished with
imprisonment ?/3TORTET T GSURUT HRTEE &1 8, Tfes

ST TFd cllch Tdeh ¢ Tol T hed 3TURTET bl AUchedl § b
W I R H &f3d fohar srean?

a)one-half of the longest term provided /a) & &t 3G e Shr 3T
feear gereT forar arar

b)one-third of the longest term provided /b) & &l 31T T Th
fagTs gereT fohar arar

c)one-fourth of the longest term provided /c) Ha& st 3G T
Th-ANATS Tt fohar arar

d)two-third of the longest term provided /d) T€H &sT 37T T
ar-fagTs vere fehar aram

20)Which are the leading case on conspiracy ?/93J3 4T qq3g
HIHT i A §?



a)Fakruddin v/s The state of madhya pradesh /a)wﬁl?r JATH
HE 962 T

b)Hussain umar v/s Dalip singh/b)gﬁT-r 37X §o11H Gelly g
C)V.C shukla v/s State/c)dt. &l eIl S=TTH T2
d)AIl of the above/d) 3URIed THT

21)If in a trial for causing death by negligence it is
established that the accused had been at fault though the
victim had also been equally at fault ?/af¢ ATORETE! & g
FIRA el & HoheH H Tg Fﬁrﬁﬁﬁm%%mmwm
ETeTTh R ol Tt 9 J ITereh O3 477

a)The fact that the actual injury was brought about by
carelessness or contribution of the victim also,will be no defence/

a) Jg d2g foh arEdides die emaargr AT Sisd & J19TGTe & HROT
&S, I ST LT G

b)Contributory negligence would be a good defence /b) 372G
STIdTar Ueh 31T5T 91 gIam

c)The degree of culpability as to the amount of negligence on his

part shall be deciding factor /c) 3GehT 31X & ATIATRl hl HET o &
# Y fr B3l AviTs FRE gl

d)None of the above/d) 3TRIFd H & FIS TaT

22)Which of the following is the case decided by the Federal
Court on section 124A of ipc ?/3TSGIEY I &RT 124T 9T FEHT
FATATT GART TF T @ H A shiel AT ATHCT O fohdT 737 §2

a)Kedar nath v/s State /a)$heR T F1TH T



b)Niharendu Dutt v/s Emperor /b) figRq & s=i1d FHTC

c)Q.Empress v/s Bal Gangadhar tilak /c)H8RIAT So113 &Tel e’
IGEED

d)Emperor v/s Sadashiv narayan /d)HHTE FTH TG TRII0T

23)The essence of sedition is ?/RTSTglg T AR FAT§?

a)lntention /a)sTer

b)Benefits or gain of the accused /b)3TfRIF T ST IT AT
c)Result /c)aRoTH

d)Both intention and result /d) a31eT 3R IROTM gi=t

24)Which one of the following section of IPC deals with
vicarious liability ?/3TSURT &1 feATaf@d 7 & Sl & aRT WRIeT
ci¥fica 8 gefad g?

a)Section 120A /a)¥T 120T
b)Section 121/b)&IRT 121
c)Section 154 /c)YIRT 154
d)Section 159 /d)aRT 159

25)Joining unlawfull assembly armed with deadly weapons
has been dealt with under the IPC?/gTde giaaRy & o
faftfavey staTa & afAe giar IS & ded Ha fader s &7

a)Section 141/a)4RT 141



b)Section 142 /b)YRT 142
c)Section 143/c)YRT 143
d)Section 144/d)49RT 144

26)Definition of bribery given under which section of indian

penal code?/3RAT &3 Tfgdr $T v 8IRT & 3iddTa Raa@iy $r
RIS &7 318 52

a)Section 170/a)¥RT 170
b)section 171/b)&IRT 171
c)Section 171A/c)IRT 1717
d)Section 171B/d)&RT 1716

27)Which of the following statements is not correct?for
giving false evidence a person must?/fFITaT&d & & hieT AT
HYeT Hel Tel g ? [l caferd i fALIT arey &= a1figu?

a)Be legally bound by truth/a)H=ars ¥ Sisfell §9 H g8 T
b)make a false statement /b)STST ST ST
c)know that the statement is likely to cause injury to some person

/c) STl of Toh §aTeT & fordlY safFd &1 die o1eTet hr THET &
d)Believe that the statement is false /d)fa2ard & o HUT ITold &

28)A, being legally bound to appear before a District Judge,
as a witness, in obedience to a summons issued by that
District Judge intentionally omits to appear. A has committed
the offence defined in which Section in the Indian Penal



Code?/T, Teh Tl ~ITATfIer o HHET 3718 o FT H 39TUT &ld &
%rtraﬂa?i’rmﬁmwaﬁéﬁww 39 Torerr =aramedier garT SRy

RAT 91T G T TTeleT Y SIECEER W%’Iﬁ@wm
&1 A ¥ SR &3 Eiear 1 fha Ry 3 g srary fRar §7

(a) Section 172/(a) 9RT 172
(b) Section 173/(b) &IRT 173
(c) Section 174 /(c) 9RT 174
(d) Section 175/(d) &RT 175

29)Which of the following is not an offence against the State,
under the Indian Penal Code, 1860? Penal Code, /ARdT &8
Tfedr, 1860 o dgd AT &d H & hieT AT I & T AT
AT &2 &3 |igd,

(a) Spreading infection of disease dangerous to life/(a) SfidsT o
foIT TavaATeh AR T THHUT Selll

(b) Waging war against the Government of India/(b) 3IRd TIHR &
Qe geor s

(c) Sedition/(c) T=TgE

(d)Assaulting Governor of a State with intent to compel to

exercise of any lawful power/(d) fh&T I=T & Togurel WX fohar a&r
AT T TAT el h [T HSTGY e o SUG H FHAAT hiall

30)If a person, with a knowledge that the feelings of group of
people is likely to be wounded, trespasses a place set apart
for the performance of funeral rights, he commits a crime

described under Section:/af¢ Fis cafad, Ig ST gu o oleir &



Waﬁrmmﬂﬁwqﬁﬁ@mmm% 3TaH FEPR &
masﬁrcm%m?mﬂwaﬁwm% SICERIIRUE:
ded gfoTd 3T9RTeT ST g

(a) Section 298, Indian Penal Code/(a) $TRT 298, HRAIY &8 Afadr
(b) Section 297, Indian Penal Code/(b) &IRT 297, TR &3 Tigar
(c) Section 295, Indian Penal Code/(c) &TRT 295, IR &3 Tfgdr
(d) Section 296, Indian Penal Code/(d) &IRT 296, HRAIT &5 dfgdr

31)What ingredient is not necessary for the offence
punishable under Section 279 IPC (Rash driving on public
way):/3TSHIET I RT 279 (TTdsifeish AT R 3didelds ¥ dige]
TATAT IT §Tchadl) & dBd &Sa1Td U o ToIT hisT AT Tceh AT
oTel o

(a) Driving of Vehicle/(a) dTgel delTdl
(b) On a public way/(b) HTdsifeieh TFd T

(c) Such driving must be so rash or negligent as to endanger

human life/(c) UHT SISTAT SA=iT ol AT ATIRATE! | gl AIfg U Toh
AT Shided @k # 98 S0

(d) Persons were on road/(d) SIfdd Tgsh WX A

32)The term "Harbour" defined under Indian Penal Code,

1860, does not include/A R &g AfgdT, 1860 & dgd TRITNT
s " AT " H A AT AGT g



(a) Supplying a person with shelter/(a) for&iT STfFd I 31T TeT=T
Tl

(b) Supplying a person means of conveyance/(b) fraT cafad &t
URAge & HTEleT 3Tl Hlledl

(c) Assisting a person to evade apprehension/(c) ThaT cIfed sl
3TIRT T H HEIRIAT el

(d) Prior to the commission of the offence, facilitating the
commission thereof/(d) 3TIRTT & FHIRT F Tgol, 3T HHIAT T
giaYT yeret el

33)According to Indian Penal Code punishment is given for
disclosure of identity of victim of certain offences is 2/dRdIT
&S Afedl & TR ST 3ToRret 31mie & fifSd i Hr ggeme
T Y ETHTOT Sl U T & ST 82

a)Upto 1 year imprisonment and fine /a) 1 a¥ deh &I &g 3R
9

b)Upto 2 year imprisonment and fine /b) 2 ITel de &l ohe 3R
STATST

o)

c)Upto 3 year imprisonment or fine /c) 3 HTel Teh T she, AT STATAT
d)Upto 2 year imprisonment or fine/d) 2 ETel deh el she; AT STATEAT

34)Chapter XII of the Indian Penal Code deals:-/HRdT ¢35
Tfear &1 3rear Xl T&fid §:-

(a) with false evidence and offences against public justice/(a)

AT are T 3R ol =a1T & fa%eer 3Tavrer & fawg &



(b) with offences relating to elections/(b) [aaTeT i 37T &
faw &

(c) with offences relating to coin and government stamps/(c)
Ferehl 3R TXHRT TEFUT @ FFToerd Ol & fawT &

(d) with offences relating to weight and measures/(d)dTe 3T #GT
q FFafeud IRl & Aug &

35)'A' knowing that her husband '‘B' has committed murder,
knowingly conceals in order to screen him from legal
punishment, "A" is liable for/'T" Ig SATeId &0 foh 38 Ifd ‘&' oF
G T &, STTASSTR 38 Hielail Holl ﬁqulﬁ%ﬁtf?m?ﬁ%, ey
s folv 3aerdl &

(a) Murder by reason of having common intention/(a)dTHTd
3T & HROT geT

(b) Harbouring/(b) 8=
(c) Abetment by aid/(c) FETIT SaRT gEUROT
(d) "A" has committed no offence/(d) "T" & IS 3TURT AgT THAT &

36) A person who causes bodily injury to another who is
labouring under a disorder, disease or bodily infirmity and
thereby accelerates the death of that other, shall be deemed
to have caused his death, by virtue of:/4). Teh cIfad S fohdT
faenr, AT a1 QMR GeIeTdl o T8 hIH I I GER TTarcd ol
%nﬂﬁ%?ﬂ'dqgmm%ﬁhsa e 38 g8 ol Hcg &l ool LT g,
38 O HTAT ST | 3HRT Fcg a1 HROM F g

(a) Explanation | to Section 299/(a) &IRT 299 T TISEIHITT |



(b) Explanation | to Section 300/(b) &IRT 300 AT TISEHIOT |
(c) Explanation Il to Section 299/(c) $TRT 299 &l TISEIHIT ||
(d) Explanation Ill to Section 299/(d) &TRT 299 T TISEIHIOT ||

37)A person whisked away a child below ten years of age
who does not have parents or any lawful guardian the

offence is/Uesh TfFd &H I¥ T »H 3H & UV I I 31 of I1AT
Toraes ATIT-TAaT I1 1S 3T TI8Teh 78 &, Tg AT ¥

(a) kidnapping/(a) ca9g30T

(b) abduction/(b) 319gI0T

(c) child trafficking/(c) STeT GeATIR
(d) no offence/(d) IS 3TURTE el

38)'A' a 75 year old terminally ill patient, pleads with his wife
to give him poison so as to put an end to his painful
sufferings. The wife does as she is asked to do by her
husband. The wife is liable for:/12)'T" T 75 I 31aTed I g,
ST 39T Geadl & TaaTcdt e § foh 38 S1eX & T e arfes 3@
GCoTTeh UIST &l 3 81 Toh | Ucal! dal ohicll ¢ il 34ehl Ui 398 et
I HEdTl ¢ | Tcoll 3Hb [oIT 3Gl &

(a) Murder/(a) gcar
(b) Culpable homicide not amounting to murder/(b) 3TaRT&S
HATId I §cdT & AT Al

(c) Abetment of suicide/(c) 3TcHgcaT & Tl geoRoT




(d) No offence/(d) &S 3T9RTET =T8T

39)'A' and 'B' were sworn enemies in school. 'A' had pushed
'B' due to which he fell down and his two front teeth were
knocked out. 'B' was looking for an opportunity to settle
scores and once after school he challenged 'A’ to a duel and
gave him punch on his face with intent to knock out his
teeth, but he missed the aim the blow landed on the right eye
of 'A' due to which he lost his eyesight in the right eye. Here
'B' would be liable for?/'T 3R ST Thol H HecX AT | 'T' A
"o Sl el T8 AT AT [ST 8 ROT I8 A IR 313 31K 39 A1 o
Al &id e 1T | 'S TEHT-fohdTe SRS et o Hiah bl dTerer 3 2T
3 Teh aR Tehol o &1 38 'T T Gdeageds & fell Yaileil af 3R
mmm¢m@ma@wmm e g TR
<eh 1T, sqza:rar%?ﬁquW| T 1 TR HIROT ST G
maﬁrﬁawﬁaﬁméﬂ gl ‘& Thah Tl 3aerT g19m?

(a) Voluntarily causing hurt/(a) Td<oT & 398 ‘:Ig?-IT?IT

(b) Voluntarily causing grievous hurt/(b) Ta<aT § g 39gfd
qg et

(c) No offence as he never intended to inflict the injury in

question/(c) IS 3TIRTET TaT FAiTch 3ThT SUET AT HT TS dic
qg T} T el AT

(d) He would get benefit of free fight /(d) 38 Tl #ISTS & o187
fAeram




40)The word 'takes' in Section 361 of IPC signifies /35U &r
YRT 361 F "ol & UG T 3T &

(a) Taking by force/(a) STeRGTAT ol=l
(b) Taking by fraud/(b) &iRg & oi=TT
(c) Physical taking/(c) 2MRIRe ool
(d) All the above/(d) 3TRIed THT

41)'A' has sexual intercourse with a widow with her consent.
'A' is guilty of 2/'T" & Ueh fatrar & &Y 3! HeATd & JlA-9eY
ST g | T gt g2

(a) rape/(a) ST

(b) adultery/(c) STR&H

(c) insulting modesty of widow/(c) TaIar &I ereaIT $13T el
(d) no offence/(d) SIS 3TIRTET FGT

42)As per the Criminal Law Amendment Act, 2013, enhanced
punishment of rigorous imprisonment for a term of not less
than 10 years is provided for rape if woman is

under?/3TORITS FlefeT TN fATATH, 2013 & TR,
TATCHIT & TIT e T HH 10 IV hr 3797 & [T ol HRIET Sl
W?WWW%WW@W .......... TFAT?

(a) 16 years of age/(a) 16 a¥ & 3T
(b) 14 years of age/(b) 14 a¥ & 3T
(c) 15 years of age/(c) 15 a¥ & 3T



(d) None of the above/(d) 3TRIFd H & FlIs gl

43)Any person who commits unnatural offence and enjoys
voluntarily sex with any male, female or animals, he can be

awarded maximum sentence of:-/&Ig 8l afeFd ST 3Tl
IORTYT el & AR ST & Rl 7R, Aiey I7 SR & Ty Fhe
T T &, 38 TRdH I & T Hehell g:-

(a) life imprisonment/(a) 3TSiTdel SRTATH

(b) ten years imprisonment/(b) &3 TTel &I &he,

(c) seven years imprisonment/(c) T ATeT Sl he;
(d) three years imprisonment/(d) cilsT HTeT I he,

44)In which of the following judgments did the Supreme
Court set aside the judgment of the High Court of Delhi
which decriminalized Section 377 of the Indian Penal Code,

1860:/AF=Tfaf@d # @ ford haet H gl 1< & feeel 3=
=TTl o thel I ¥Gg Y [T, TSRt ST €% Wi, 1860
STRT 377 Y 37TRTT ¥ AN F ger 2w

(a) Sakshi v. Union of India, AIR 2004 SC 3566/(a) @Tef I=Te
R 9, TSR 2004 THAT 3566

(b) Naz Foundation (India) Trust v. Suresh Kumar Koushal, (2014)
3 SCC 220/(b) TSl WI3SAA (FST) TEC SATH FIA HHAR IR,
(2014) 3 TEHTHET 220

(c) PUCL v. Union of India, (2010) 14 SCC 245/(c) YgdIveT SATH
R T, (2010) 14 T 245

(d) Suresh Kumar Kaushal v. Naz Foundation (India) Trust, (2014)
1 SCC 1/(d) G FAR hlRAel F=TH =TT BI3seUA (3733T) g,
(2014) 1 TEAEIET 1



45)Voyeurism has been criminalized in India by virtue of
which amendment to IPC?/3TSUrHT & v TAT & 3TUR W
HRA H T2IRTATRAT I 39 AN T feam ararg?

(a) 2015/(a) 2015
(b) 1983/(b) 1983
(c) 1870/(c) 1870
(d) 2013/(d) 2013

46)A finds a rupee on the highway not knowing to whom the
rupee belongs. A picks up the rupee. A has committed the

offence of ?/T &I TFHATI UT Teh TUYAT AT §, 39 Tg gl Il
giar o ag 39T fohdeT g1 U 39T 3oTdT . T ot 379reT fhar g 2

(a) Dishonest appropriation of property/(a) §9f & SSHTT &

(b) Theft/(b) TRY

(c) Dishonestly receiving stolen property/(c) SSHTAT & AT et
FYTT YTed el

(d) None of the above/(d) 390ed & & &Is gl

47)In which of the following Sections of IPC 'preparation’ is
punishable?/3TsWHET FI F=afaif@a & O Fg arr § Gl
GsAIg g2

(a) Sections 121, 125, 398/(a) &IRT 121, 125, 398
(b) Sections 122, 125, 399/(b) &IRT 122, 125, 399



(c) Sections 122, 126, 399/(c) &TRT 122, 126, 399
(d) Sections 121, 126, 398/(d) &TRT 121, 126, 398

48)'A' meets ‘Z' on the road and asks him to part with his
belongings on the instant threat of hurt to 'Z'. While 'Z'
delivers his purse to ‘A’ 'A’' snatches away the golden chain
from Z's neck. Which one of the following offences is
committed by 'A'?/'T" 56 WX '95" H HeIdl ¢ 3R '918" &I 39gfd
q@ﬁ@rmmﬁwmmmaﬁgﬁéﬁﬁvm%l
STd 'SI8" 39T 94 T Sl JITdT ¢ df 'T" 'SIS" & ITel & Hled el Aol
BT oIl g | [AFATI T & & ahleT AT 3TIRTE 'T* GaRT fohT IAT 52

(a) Extortion/(a) 3ccrded
(b) Robbery by theft/(b) IRT ZaRT o€
(c) Robbery by extortion/(c) 3¢ard«T ¢aRT o[

(d) Robbery by theft as well as robbery by extortion/(d) TRY QdRT
o[C AT 3¢ceT SaRT ¢[c

49)immovable property can be the subject matter of ?/31del
Ui fohaerr fawa gr ghdr 872

(a) Theft/(a) TRY

(b) Extortion/(b) 3ccTqsT

(c) Dacoity/(c) 3l

(d) Dishonest misappropriation of property/(d) E9T T SSHET I

AEICRIC]



50)'A’ voluntarily throws into a river a ring belonging to 'Z',
with the intention of thereby causing wrongful loss to ‘Z'. 'A’

has committed:/"T" & TSI & *SIS" &I Teh IS 1dT H Beh 7,
TSTEehT 3ECR¥ 'oiS" T HalY ETeil Uglell UT| *T & Ficsets foha &

(a) theft/(a)aRT

(b) mischief/(b) Rfse
(c) extortion/(c) 3cardsT
(d) cheating/(d) el

51)When did the Indian Penal Code received the Governor

General’s assent?/HRdA €38 Aigdr &I IdeR STaiel Sl HgHATd
e fHelr?

A. October 3, 1850/ 3 3fer¢siY, 1850
B. October 5, 1852/5 3fece, 1852
C. October 6, 1860 / 6 3e¢siY, 1860
D. October 7, 1865/7 3ie¢siY, 1865

52)After the submission of the draft of the Indian Penal Code
in 1837, who reviewed the draft Code?/1837 H #RdIT ¢35 dfgar
T HHIET &I I & dTe AT HFAT Sl FHIET fohder 12

A. Sri Barnes Peacock/#lT STed Yiehleh

B. Sri Rajgopalachari/#T T<Tearerary

C. Sir. J. W. Colvile/ TR. 3. 3s¢, Hlelidel
D. Both (A) and (C)/al=r (T) 3K (HT)



53)”Enhanced Punishment for certain offences under
Chapter 12 or Chapter 17 after previous Conviction” given
under which section?/"TUcell H3IT & ST 3TEIRT 12 IT AT 17
% TEd $O AT & foIT 1 g5 T foha TR & T6d 4 TS §?

A. Section 73/T. IRT 73

B.Section 75/dl.4RT 75

C. Section 55/&T. &IRT 55

D.Section 65/31.4TRT 65

54) Who is the public servant?/ [&##e & il ol Adh 82

A. Assessor or Panchayat member / A. 3/ 8EX I7 TATId &l o8
B.Commissioned Officer / B. SaTreT 3 TRIRRT

C.juror / C. 5[ 4 &

D. ALL OF THE ABOVE / D. 3WRIed &3t

55)Section 53A of IPC is Inserted by which amendment?65.
IPC T &7 53A fohd H2MET GaRT SIS 315 572

A. 1944 | T. 1944
B.1948 / &1.1948
C. 1955 / |1. 1955
D.1958 / 3I.1958

56)Which chapter of ipc deal with general
exceptions?/3TSUTET ST ShisT T ITEITT JTHEY 9dier & gafad
g?



a) chapter 5/a) 3T€J1T 5
b) chapter 4/b) 31€31 4
c) chapter 3/c) 3E€I1T 3
d) chapter 2/d) 3131 2

57)The motive under section 81 of IPC is ?/3TSUIHT ST &RT 81
& dgd HAHRHG FATg?

a) Prevention of harm to person /a) cA{Fd T FehdTA HT AHATH
b) Prevention of harm to property/b) HUfe &l sJehdTeT T AHATH
c) both (a) and (b )/c) &=t (T) 3R (a)

d) either (a) or (b)/d) It A (T) IT (&)

58)What punishment will be given to person who has

committed an act under general exceptions ?/@H=T 319dIaT
& AN g FHcd F¥el dlel AT hl AT &3 AT A2

a)No punishment /a) &5 T g1
b)Half the punishment prescribed/b)cs T 3meft Fair
c) One forth the punishment prescribed/c) Te TtUTS gus feTRT

d) It depends upon the discretion of the courts /d) Ig 31&Teldl o
fad W AR aarg

59) Right of private defence is not available:/fasiT gfa<eT &1
TR 3TeTsY g7 B

(a) Against an insane/(T) Teh UTaTel & [&elTh



(b) Against a child/(s) T T & &eTh

(c) When there is a time to recourse the public authorities/(HT) ST
Ardotferen TRIRAT T TERT ot T THT &l
(d) All of the above/(D| 3Ried T

60)In cases of kidnapping & abduction the right of private
defence extends voluntarily causing:/319gI0T 3R 980T &
AT H Al sa1g F1 3R Taor § Heafead SRl & gidr
g

(a) any harm other than death/ (T) Hid & 3felTdl IS oehdTe

(b) any harm other than death & grievous hurt/ (8T) Hid 3R TR
TIE & eIl HIg Tehdlel

(c) any harm including death /(&) HiT g IS FTehereT

(d) both (a) & (b)/(3T) &= (T) & (s

61)Queen v/s Mohit pandey 1871 deals with which section of
IPC 2Rt ST Hifgd 91s 1871 JSUIET T fovd ¢IRT & T fd 67

a)Section 105 /a)4IRT 105
b)Section 106/b)¥RT 106
c)Section 107/c)¥RT 107
d)Section 120/d)&ITRT 120

62)What is the essential element of instigation under Section
107 IPC?/3TTSYIT T &RT 107 & dgd 3hdlel ol TS dcd FT
g?

A) Encouragement/a) UicaTgeT




B) Assistance/b) Falddr
C) Proximity/c) faiehedr
D) Intention/d) SI1aT

63) A abet a child or a lunatic to commit an act that would be
an offence if committed by a person capable of committing
an offence. This illustration deals with which explanation of

IPC ?/fhdT S=d AT UIeToT ! VAT hRY Sl o [oIT ShdTaT Sil 3T9RTeT
et H T&TH ST GaRT hdT IIAT TR BIoTT| I FIF0T ST
6T forg T @ gefRg g7

a)explanation 2/a)¥IsEIh0T 2
b)explanation 3/b)TIsERIT 3
c)explanation 4/c)EISETRIUT 4
d)explanation 5/d)ETSEHIIT 5

64)A, in India, instigates B, a foreigner in Goa, to commit a
murder in Goa. A is guilty of abetting murder.this illustration
ion given under which section of IPC ?/& Rd H @ I, ST liar
# facef &, aar & 1 FRe & [l SHATAT§ | & T o gouoT
I e & 13I8 o7 3msdidt Y forg e & 3iaeTa fer T g2

a)Section 107/a)4RT 107
b)Section 108A/b)YIRT 108T
c)Section 109/c)aRT 109

d)None of these/d)gsT# & &Is AgT



65)'A’ with intention of causing death of 'B' gave him a severe
blow on his head. 'B' became unconscious. ‘A’ believing 'B’
to be dead throws 'B' into a pond. It was reported that ‘B’
died of drowning. 'A' is guilty of:-/'T" &1 '&I' I AR & ¢ &
39 fAT W SRER UgR fham| ‘& SgIer &l ars. ‘T o "' &l #T g3
HATTHT "' Sl dTold & Sheh fSAT| ST I1=A7 o6 ‘&l @rs\aﬁr@raﬂﬁﬁe’r
TS| T Y g:-

(a) committing murder/(a) gcaT ST

(b) culpable homicide not amounting to murder/(b) 3T9RI®I& AT
g §cdT & AT oTgl

(c) attempt to commit murder/(c) &caT a1 T YATH

(d) culpable homicide amounting to murder/(d) 3TRIT8S AT T
gl & AT

66)Which kind of hurt is not grievous?/fhd &R &I 39gfd €iX
el g?

(a) Any hurt which endangers life./(a) P15 T 3ugfa i Sfiaa &1
TaX H STl g

(b) Any hurt which causes the sufferer to be during the space of
15 days in severe bodily pain./(b) #15 3 3ugla o FRUT Gifsd
& 15 Tt o gRTeT a1efX iRk st gar

(c) Permanent privation of the sight of either eye./(c) Gl & &
fordY 8ft A r giee o1 TR faTee |

(d) Privation of any member or joint./(d) & 8ff 3791 I7 SIS F1
fa=ae|



67) W who had her small baby tied on her back, was
proceeding towards her parental place who lived nearby.
Since, her husband H. did not like her visits to her parental
place prevented her from proceeding further and directed her
to return home and threatened her with dire consequences if
she ventured to do so again. She felt very depressed and
decided to jump into a well nearby. Unmindful of the
presence of her child on her back, she jumped into the well.
She survived but the child died. W is guilty of/ Ss¢, EFSEARN
U 3HhT BICT STdT ST 31T AT, ITH H &1 Ig1 dTel 319l HAleh hl
3T ST & &A1 Il 3T U T, T ST 379 FTAT-TaT & &Y
ST 9HG AT AT, SHTOIT 38e1 38 39T dgad O Udh f6a1 3R 39 &R
clieat &1 fAder fear 3R 38 gAahr &) [ 39 391 IRy UAT Flat
ﬁ%ﬁﬂlﬁ@ra‘mmquﬁml JE Jgd 3aTd FeHH HX
TET AT 3R 38 91 & Teh HU Iﬁrchqd T e TRaT| 3T 416 O
mﬁra—aa?rﬂ’?aa?ﬁa?rmﬁ:tr%mqs $U A e S| I8 o o
T oifeheT STaT #9194, S ardl &

(a) murder/(a) gcaT

(b) culpable homicide not amounting to murder as she cannot be
attributed with intention to cause death or intention to cause
bodily injury/(b) 3TARTT®h HTd T §T, 511 8T T AOfT H AT
3T FTfeh 3/ Al T HROT Teiel AT AR e Tgaled b SIS &
ST 8T SEIIAT ST HehdT

(c) causing death by rash or negligent act/(c) 3dTdeldsT AT
STIRETET & TohT 7T Ry @ FHcg HIR Al

(d) no offence as it is a case of accident or misfortune/(d) FIs

3TORTET TS i foh I GEICHT AT GHIIY T ATHAT &




68)Causing death of a child in mother's womb:/&T & T &
S ST Hcg I HROT FoaT:

(a) is always homicide/(a) §H2T #ATId a9 &

(b) with intent to cause miscarriage is homicide./(b) IT3ITT T
o SUTC H I 375 &M & &

(c) is culpable homicide/(c) 3R sAEdT BT &

(d) is culpable homicide if any part of such child has been brought
forth, though the child may not have breathed or been completely
born/(d) Tfe VH ST T PIS 39T ATEL T IAT &, 3ol o g of

| & oft 81 A1 I e & e & §31T g, dl Ig RIS Hiefd I8 §

69)A’, ‘'C' and 'O' commit rape on B and are convicted by
Court of law. Subsequently, ‘A’ is found guilty of having
committed the rape of 'X' also. ‘A’ is liable to be punished
with:/@, '&Y 31T 30" o Y & 1Y FoArcqdT fohar 31 31EeTeid of 3o¢
aINl 3EIAT| 39 91, "T &l 'Tag" & 1Y Y Tellch R el T SNy
9T 37| 'T S &i3d [RaT ST dehell &

(a) imprisonment for 7 years extendable to 10 years/(a) 7 HTel &I
e, TST8 10 ITel deh ST ST HehdlT &
(b) only imprisonment upto 10 years/(b) shael 10 a¥ deh HRIATH

(c) imprisonment for life till natural death or death/(c) JTehfds Hcg
T FHcY T ATSlIaed HRIETH

(d) life imprisonment or 10 years rigorous imprisonment/(d)
JTSigeT SRIEE AT 10 aY Hl HOR HRIGE




70)'A' committed robbery on the National Highway between
10.00 p.m. to 11.00 p.m. ‘A’ may be imprisoned for a

maximum period of:-/'T" & ¥ 10 §o7 & T 11.00 Fof deh & §1F
AT §Ted T o[ I | 'T &1 3TURIH 3afe & foIv R 81
HehlT g:-

a) 10 years/(a) 10 a¥

b) 14 years/(b) 14 a&

c) 7 years/(c) 7 a¥

(d) None of these/(d) 378 & IS Agi

(
(
(

1 The candidate.....submit three copies of his thesis to the
research section of the university-

(1) shall
(2) will
(3) may
(4) can

2 People eat so that they.......... live.
(1) can

(2) may
(3) will
(4) shall

3 The stores.... stay open till 10 p.m.-
(1) shall
(2) will



(3) may
(4) might

4 No sooner did the train at the plat- form than the
passengers rushed towards it.

(1) arrive

(2) arrived

(3) will arrive
(4) had arrived

5 Much since they were here last.
(1) has happened

(2) was happened

(3) would happen

(4) have happening

6 He never has, and never will take such a deci-sion.

(1) He never has taken, and never will take such a decision.
(2) He never is and never will take such a deci-sion.

(3) He never and will never take such a decision.

(4) He never take, and will took such a decision.

71....... to Agra before, so | don't wish to go there again.
(1) had been

(2) went

(3) had gone



(4) have been

8 He was looking ill.

(1) past simple

(2) past continuous

(3) past perfect

(4) past perfect continuous

9 | have often criticised the standards of cleanli- ness in the
trains in India.

(1) past perfect

(2) present perfect

(3) present simple

(4) past simple

10 They proclaimed him king.

(1) He was proclaimed king by them.
(2) King has declared him king.

(3) Orders were made for the king.
(4) They did not proclaim him king.

11 Mother has cooked the dinner.

(1) Did mother not cook the dinner?

(2) The dinner has been cooking by mother.
(3) The dinner has been cooked by mother.
(4) Mother has not cooked the dinner.



12 | forgave him his faulit.

(1)1 am forgiving him.

(2) Did | forgive him his fault?

(3) He was forgiven his fault by me.

(4) He was not and will not be forgiven.

13 We need six camels for our work.

(1) Do we need six camels?

(2) Did we ask for six camels?

(3) Our work will begin with six camels.

(4) Six camels are needed by us for our work.

14 From the given options, select the correct pas- sive form
of the sentence given below: No one has climbed this
mountain before.

(1) This mountain was not climbed before.

(2) This mountain has not been climbed by no one before.
(3) This mountain has not been climbed before.

(4) This mountain was climbed by no one be- fore

15 Choose the correct option-[Jr. Accountant -2015]
Somebody has eaten all the biscuits.

(1) All the biscuits were eaten.

(2) All the biscuits have been eaten.
(3) All the biscuits are eaten.

(4) All the biscuits somebody ate.
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7 . Aol Uec] H PiTaT THH 8IdT 62
(37) HAURYT

() degey

(/) &gecd

() &faqT

8. FSUTAET Qscl H FITAT AT &Il 67
(37) AT

() &fa9

(T) FHAURT

(&) edecd

9. AT eregT H HiTaT FATH BIcT &2
(H)W
(&) Ty

(§) cdeed



() gfa9

10. f9er & Hler-ar GRT &
(37) TR I
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(@) fagesr afey

(€) 3TH | PIS oTel

11. IS H HT-ar afr g
(37) TR I
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(@) faaet afer

(§) STH & PIS oTel
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